Cumulative Algebra Review- Chapter 04

Algebra 2H

All work is to be neatly shown on a separate piece of paper. Please write and box your answer, including the multiple choice answer letter. This is due the school day after the chapter test. It may be graded on both completeness and correctness.
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2. For which of the following functions f is 
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III.
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(A) I only

(B) II only

(C) I and III only

(D) II and III only

(E) I, II, and III

3. y varies directly as the square of x. When 
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(B) -8

(C) -10

(D) -16

(E) -64

4. 
Circle O is centered at 
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 and has a radius of 4. Circle P is centered at 
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 and has a radius of n. If Circle O is externally tangent to Circle P, then what is the value of n?
(A) 4.00
(B) 4.37
(C) 4.60
(D) 5.28
(E) 6.25
5. The diameter and height of a right circular cylinder are equal. If the volume of the cylinder is 2, what is the height of the cylinder?
(A) 1.37
(B) 1.08
(C) 0.86
(D) 0.80
(E) 0.68

Written Response Question

A complete response requires the following:

· Express your thinking in words

· Label any figures you draw

· Identify any formulas used

· Make clear the source of numbers used

Full credit will not be earned if your work cannot clearly be followed. The final answer is important, but meaningless if you cannot show somebody how to get it.

----------------------------------------------------------------

Precision Pizza Problem
a. Usually each person in a math study group eats a small round pepperoni pizza with a 6 inch diameter. There are five people in the study group and they want to share one pizza. Precision Pizza will make a round pizza of any diameter. What is the diameter of the pizza that should be ordered from Precision Pizza so that everyone gets the usual amount? Show the work that leads to your answer.
b. Rather than ordering one large pizza, the students decide to order two pizzas, each with half the area of the large pizza. Joshua said that the sum of the circumferences of the two smaller pizzas was equal to the circumference of the large pizza. Barbara claimed he was mistaken. Who was right? Explain your answer.
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